© EEERHAGRETE) © RAESKHR
BRI, ARRERHTENCRHRERATGERR, TESHEE, RRSTEN.

13185889715

i
[
i

Amurson

Control Valve

BESG

| {1
[ £
i
|
-‘.i
Bl

1
>

k= Ll T N | Rk

ZHEJIANGAMURSON CONTROL VALVE CO., LTD.
Ytk HTERMHEIRAB TR

Add: Dongou Industrial Zone, Oubei Town, Wenzhou, Zhejiang

HiETel: 0577-67365235 67992660 | | _
fEHrax; 0577-67353022 3 | %. E}] Z 5l

HR4mP.c: 325102 Pneumatic series




Company

Protile
AR

WIZRAERHBMARASURT2004%F, T “PERBZS” BILEREILR, TYHRES: RREFXBTESH
Wis. EARSHHTH. FEEEARTINM, AFSHENIMERRA. ®E, EFHERTVREKENERT> R,
FEERTEME, 4. 23, KRS, BHNRKLESEMEELENE, ASTYIRMERHMURN~RERS. FHO
KX, FRUEFHERE TS,

A RIRRISO9001 -2000E FR A RINMEFR AT EE, > RIENCAD, ZHRITENIH#TRMAEIT, FHIRELR,
MEARERETE, FRAFGHURETER™R, AIRAIRMIHL. BBEERINASERE, FBRR-ASREBHAETE
RIETHEBESHET.

BEEL. DAXRZATMNLETES, BEARE. RIERBEADNNES R, TEEENL VLA RERSDNER
A, TREFFEHEMOURNS &, ERFERFAPEAIFRENITEZRENER, ILRMNIAEZHLERE,

Established in 2004, Zhejiang Emerson Control Valve Co., Ltd. is located in Dongou Industrial Zone, Oubei Town, Oubei
Township of China Pump Valve. It specializes in R&amp;D and production of gear and rack angle stroke pneumatic actuator,
straight stroke pneumatic actuator and aluminum alloy clutch manual mechanism. The company introduces advanced
technology and equipment at home and abroad, produces and manufactures various series of products of leading level in
the industry, which are widely used in various pipeline installations such as petroleum, chemical industry, power station,
natural gas, fire fighting and water treatment. Provide high quality products and services for engineering projects in various
industries. And export to Europe, America, the Middle East and Southeast Asian markets.

The company is strictly managed in accordance with the ISO 9001-2000 international system certification standards.
The products are optimized by means of CAD and three—dimensional design, which not only has beautiful appearance, but
also has stable and reliable quality and better service life than traditional products. The company uses vertical processing
centers, high—precision CNC machine tools and other equipment, not only to ensure the precision of product parts and
components, but also to ensure the capacity of mass production.

Customer first and people first are the company's business philosophy. Keeping improving and guaranteeing quality
are the company's production standards. Only by building an advanced corporate culture can we enhance the cohesion of
the enterprise and provide customers with better quality products. We sincerely hope that friends from all walks of life will
support and pay attention to the development of Zhejiang Aisheng and let us work together to create brilliance.

Product
Highlights
R




BRKBERINSFHRITHMTmEAMURSONL 7 A iR 1R
HEUFHERABRSHIT—RKT®
AMURSONA BB ZEMNSAMMTRETER, HRIT4E™
MO MAESRENE S KEUREESHTE N,

01

AMURSONA S FENLEREREARB#HRIHHTVH>RREEUTE
BERER:

RETROMBRAER
BRENSRSFENAGLEMRITLBRESEL, AMURSONASEE
RERETENMASAEHABRITRMZERARSRBEZAE AT
G,

5T RS T H i it
FARHNERFSAHSEFTIRAARI[BRTINE~ 2T, EHAEX
BAEARNENURATESNEAN. FEARHRIISZHHTNE>
@RBTEREAREAR

5B miEE M Em

BRI SEHTNETREU T LN S,

— 16N BB B9 = 5

-EERNRERMNERERAR

~4y 4 T 2I8000NmM

-ZFMARANRENEESR

-EEMEERMEN
-ZMISOEMNERZZNEMHBAESR T EEER

- HESN(BEERMNBIERESE120—135—180 IEE A K

- 180 EE M (BERRTIMEBFAIL-MID(ERE R4 F hiafcB)T)
- ERTYIM, O0M180MiEE TR, HuUAHEREM(EERMRIEH
AAERAR LW,

- RENER TV

BEEFRNR
FRERBHARISHARTVM > RELLLFHRITANE, BYSENE
FRAFRRKESRKNEASFHRTROME,

HEERRE
BRRBERI SRV RORIT. EFNNRETEFEREERN
E FRiRE

EFETZARE
FERBARISHRTINE>REXASREAME . REROHRIER
EREFHEFTZRESN,.

02




AR

AR

1. FRE LI
HESRASIEERMRERTRAEGMERELLE
REMLEHRHERY, RERERREFEMT &
EEEELE R B
HTHRFEANKRBERMAER, HIRATRUEH
BERE.

2, FERXENR

MEERBEEFRANEN, FHERNES. REXN
R, EEEGKNERENE, 0T REH LM
HERFEILNRE, FENAREALEEEARE
T B

3, ShEEEA MR ITRRAAY
EXSRRBRTINE, EXNEBTRRANTIESL
EX-5° E10° , FMAERS F-10° o KR
MEREEERIITE, REGEFETRE—AR
AMFTRABEE,

10°

4. i 158 B 5L H By i S 45 19 69 0R 5h &k
FPAENASHAEMAEERRTE, BHETRH
REMFEH ARFADNENH, XEHTRET
XHEREBENER,

5. BR80T AP AL
ELLBRENEEZET, SHEERANBRESR
BUHSHARSHEENESRREE, ¥TREMY
(f 7 S 47) A0 IE P4 77 25 48 B9 3R = 3 #4835 A 3 BL&R =]
#i#f,

03

J

6, —FREAH KNS
A P03 58 B AL(E AF AATALAS R A 48 B L R A
WEEREFRRS, BT EMAGE KA FER
TERGIAEAFTRORE,

7. BT
SRS T ENRERBESE—&,
RE N TR B4R HE R 890, B THEH T
ERGH/MBIHE BT, XMBECTERSH
B R, 3EEEREBTIN,

8. EEWMR5SRAN
BENEX ENESHRREINERRE. KER.
KEFWo HEFEF TR IR BT R

9. AANFAWEHE
BEAREMEMNRRER TS —AEAMBRNE
R, ERE. fiRH,

10, WHRAE3HH
BRHEN, BERSATEEREMFEEHBAE
BAREAER,

11, MIFBRHEF
EERENENBESELTBREM, HRANE
BAMMATAISIBERERE,

12, i& A& B B e ok & 3 4
BRIEREEE, RER. KEH,

13. REREH
TEWRA T BT KR o

14, T2HEEMEGRRTE
BEHHAH®™ 55 £ F 41505211, DIN3337f
VDI/VDE3845% EfrirfE, XA EFM LI B KM
MNEEFHEHREREEHEE,

04




MITHF R RIE S

165 # 4% BIATD
FRRBGERIIK —
SR TYAE R

FREEPRTRA TEBAEE

XA
#FO0.5MPaly I N E /1
THH 1%EM16.6Nm
%]8140Nm

HESA

(2R )

12iR B EMNEE N
4B M8.5NmZ
4199Nm

{_AMURSON )

100%2{TRM &L
WMET_ANFO0° f7RERF, 1 1° . 5°

R, ERTVARENRRERERNBEERETTRETRRA,

05

WIEH
90° jE#:

A%
120° Hek

W
135° HeiE

WA
180° e

HESH
(B1EM)
90° ek

HMESAr
(B 1EH)
135° Kesk

HMESA
(B 1EH)
180° W%

. 10° [ 25° [ 50° | 70° ¥} EHRARTAEHAN, TREEFAHNE

1. RIEST R

TRIGERHN=S, SHTVERER 4R ER
HRENEESA/ERDRESE, FARKARLE
o

2, SEEAH
HFRERREESEM(RERRGNHE, FANSE
EJ1ik0.8MPa, ®/INSIEE S H0.25MPa,

3. BB

® TR fTHL AT & A KR B SE Bl A5-40°CE[+80°C
O BE(HMEMNTHMHTEHANEETEREH-15C 7
+150°C

OFRMEBERHRFTY B ERNEESEE H-55CH
+80°C

RITIANREREBERNRZ AR

4. EiRH

MGV AEL EMET-2HENEERINHRF
EEEEHETHNERES,
RAEMBFANEHRHEEZ-40C ( -40T )& +80C(
+176F),

5. B
WENMESZTHEIRE

6. BiiP 5BIRE M
ATDRIIATNAEAHRR O P SRERTIH
WHEFEM. HTFELNARTABREREPEE
REWAHAT,

7. SITHLAE FEMEFR
EREERRTVMN, REXGDITEREIFEN
IO ERE EIEH,

FOERITYIMNEE TT 2R $X, H2O05IAEANTIHRENERE. FRERTIMNRET @
RBHRER, H205 AT —RIRR EHiEE, FRARRBER

IAE #5428 (B HE R 4% 75 ) (R 4L

SEM2OBAE
EEERIKER
mEs, AR
SMh4OHEH, M
3k 8 — R i i
e

= AT

rewzgan (| | W=l

B, AHSS .
MO HEH , M q 2 ;
3k 8 — e e ]
SHiest g?

B 4E R 3R 4E IR 28 (hR HE RE %% 77 ) M 4L EE

SREM2OB|AE
EEERRER
BB, ANE
BEE, M4 |
O Mg\l
— K B 4 M
#.

A

M

) ERAEE
BEERENE
w, ERZESM
20, M
HE—RIGES £
et

20 B SR B B

( SRS BRI

T

i

n‘nmm

i

Mﬂ
i

I

i

-

06




SRR SRR

TR E

RITUBETHEREMEETEREN
iR

WAL EETRASE—R $BAERS
REBE “RENHE/ WIT" GREE 7, B
BT UEETE B ETERRE,
RitfE B RERIIME, FAXEHNTHIE
¥ MRBETHERREEHH.
BRHAHEEETATEREDRERTR, &
B @O (HANES), RAK, RESSEE
o B—hXARE, BZHFERS.

<8
«‘\\\x\\\\\\\‘\\

(g
(9

TS SE%E EHEK tREME
1 1(1) Life EHEeE
2 1(1) Higs EHEES
3 1 AR BFESESE
4 2 AE ESHERESE
5 1 B %]

6 1 MR BN
7* 2 OBV (3% %) TB#RE
8* 2 CRIE(CEE) TR®E
o* 1 OFY B (41 ! 3 S £1) THRBR
10* 1 O [ (%1 ! 3 TR ER) TERR
11* 2 HRCEE) BRE AN
2% 1 b 7R (%A HS B TR ER) JEfE46
13* 1 HhR (4 ) %A JE 26) JE£46
14* 1 SEBMACEEE ) Bi46
15* 2 0 B R (G H %) 46
16 5-12 HEAMH EEHEW
17 1 ] TEEN
18 8 mE g TN
19 8 WEHE TR
20 2 #E AEWN
21 2 2 TN
22 2 B EE TN
23 1 A EIERER JEBZPAG6
24 1 L33 JEZPAGG

08




A FE(Nm)

A FE(Nm)

HESCEPIERME HIE

SEBEEH 2, 5bar 3bar 4bar 5bar 6bar 7bar 8bar WETE

= = 0° 90° 0° 90° 0° 90° 0° 90° 0° 90° " 90° 0° 90° 0° 90°
Wi | RRUEH Terma | EREA | EAEA | BEAEA | RAEA | BEREA | EiEA | EA | EA
SH 5,0/3,0 7147 10,0/8 13,3/11,3 5,3 3,3

S2 4/1.9 6.0/3,6 9.3/6,9 12.7/10.2 64 40

S3 5,3/2,5 8,7/5,8 12,0/9,2 15,3/12,5 7,4 4.6

ATS—50 S4 8,0/5 11,3/8,1 14,7/11.,4 18,0/14,7 8,5 5,3
S5 7,3/3,7 10,7/7,0 14,0/10 17,3/13.7 20,6/17.0 9,6 5,9

S6 10,0/6,0 13,3/9.3 16.7/12.6 20,0/16 10,6 6,6

S7 9.,4/4,9 13/8.2 16.0/11.6 19.3/14.9 11,7 7,3

S8 12.0/7.2 15.3/10.5 18.7/13.8 12,8 7,9

S 05 9,1/6,2 12/9,2 17,9/15 23,8/20,9 8,4 5.5

S 06 8/4,5 10,9/7,5 16,8/13,3 22,7/19,2 10,1 6,7

S 07 9,8/5,8 15,7/11,6 21,5/17,5 27.,4/23,4 11,8 7,8

ATS-63 S 08 14,6/10 20,4/15,8 26,3/21,7 32,227,5 185 8,9
S 09 13,5/8,3 19,3/14 1 25,2/20 31,1259 36,9/31,7 15,2 0

S10 18,2/12,4 24,1/18,3 29,9242 35,8/30 16,9 | 11,1
S i1 17,1/10,8 23/16,6 28,8225 34,7/28,3 18,6 | 12,2
S12 21,9/14,9 27,7 20,8 33,6/26,7 20,2 | 13,3

S 05 18/11,8 23,8/17,6 35,5/29,2 47.1/40,9 17,3 | 11,1
S 06 15,8/8,3 21,6/14 1 33,3/25,8 44 9/37.,4 21 13,3
S 07 19,4/10,7 31,1/22,3 42.7/33,9 54,3/45,6 24,2 | 15,5
ATS-75 S08 28,8/18,8 40,5/30,5 52,1/42 1 63,7/53,7 27,7 | 17,7
S 09 26,6/15,4 38,3/27 49, 9/38,6 61,5/50,3 73,2/61,9 31 19,9

S10 36,1/23,6 47,7/35,2 59,3/46,8 71/58,5 34,6 | 22,1
S11 33,8/20,1 45,5/31,7 57,1/43,4 68,7/55 38,1 | 24,3
S12 43,3/28,3 54,9/39,9 66,5/51,5 41,5 | 26,5
S05 57.4/16,9 36,6/26 54.9/44.3 | 73.0/60.6 28.9 [ 18.3

S 06 23,8/11,1 32,9/20,3 51,2/38,6 69,5/56,9 34,7 22
S 07 29,2/14,5 47,5/32,8 65,8/51,1 84,2/69,4 40,4 | 25,7
ATS-88 S 08 43,9/27 62,2/45,3 80,5/63,6 98,8/81,9 46,2 | 29,3
S 09 40,2/21,2 58,5/39,5 76,8/57,8 95,1/76,1 113/94,5 52 &8
S10 54,8/33,8 73,1/52,1 91,5/70,4 110/88,7 57,8 | 36,7
S i1 51,2/28 69,5/46,3 87,8/64,6 106/82,9 63,5 | 40,3

S12 65,8/40,5 84,1/58,8 102/77 1 69,3 44
S 05 41.1/27 1 54,4/40,4 81/67 108/93,6 39,4 | 25,3
S 06 36,1/19,2 49, 4/32,5 76/59,1 103/85,7 47,3 | 30,4
S 07 44,3/24,6 70,9/51,2 97/77,8 124/104 55,1 35,5
ATS—100 S 08 65,8/43,3 92,4/69,9 119,0/96,5 146/123 63 40,5
S 09 60,8/35,5 87,3/62,1 113,9/886 141/115 167/142 70,9 | 45,6
S10 82,3/54,2 109/80,8 135/107 162/134 78,8 | 50,7
S11 77,2/46,3 104/72,9 130/99 157/126 86,7 | 55,7
S12 99/65 125/92 152/118 94,5 | 60,8

S 05 66,5/41,9 87,9/63,4 131/106 174/149 65,5 41
S 06 58,3/28,8 79,7/50,3 123/93,3 166/136 78,6 | 49,2
S 07 71,5/37,2 115/80,2 158/123 200/166 91,7 | 57,4
ATS-115 S 08 106,67/1 149/110 192/153 235/196 105 | 65,6
S 09 98,1/54 141/97 184/140 227/183 270/226 118 | 73,8

S10 133/83,9 176/127 219/170 262/213 131 82
S i1 125/70,8 168/114 211/157 254/200 144 | 90,2
S12 159/101 202/144 245/187 157 | 98,4
S 05 86/56,1 114/83,8 169/139 224/195 82,4 | 52,5

S 06 75,5/39,6 103/67,3 159/123 214/178 98,9 63
S 07 92,7/50,8 148/106 203/162 259/217 115 | 73,5

ATS—125 S 08 138/89,7 193/145 248/201 304/256 132 84
S 09 127/73,3 182/129 238/184 293/239 349/295 148 | 94,5

S 10 172/112 227/168 283/223 338/278 165 105

S11 161/95.7 217/151 272/206 328/262 181 116

S12 206/135 262/190 317/245 198 126
S 05 135/89 179/132 265/219 352/306 129 | 82,4

S 06 119/63 162/106 249/193 336/280 55 99

S 07 146/80 233/167 320/254 406/341 180 115

ATS—145 S 08 216/142 303/229 390/316 477/403 206 132
S 09 200/116 287/203 374/290 460/377 547/464 232 148

S10 270/177 357/264 444/351 531/438 258 165

S i1 254/151 341/238 428/325 515/412 283 181

S12 324/213 411/299 498/386 309 108

S 05 171/118 228/174 342/288 455/401 166 112

S 06 149/84 206/141 319/255 433/368 199 135

S 07 183/108 297/221 410/335 524/448 233 157

ATS—160 S08 274/188 388/302 501/415 615/528 266 180
S 09 252/155 365/268 479/382 592/495 706/609 299 202

S10 343/235 456/349 570/462 683/575 332 224

S11 320/202 434/315 547/429 661/542 365 247

S12 411/282 525/396 638/509 399 269

S5 332/222 438/329 651/542 824/693 309 200

S 6 292/161 398/267 611/480 784/631 371 240

S7 252/99 358/205 571/418 744/569 433 280

ATS—190 S8 318/143 531/356 704/507 957/782 1169/995 495 320
S9 491/295 664/446 917/720 1130/933 577 360

S 10 451/233 624/384 877/658 1090/871 1302/1084 618 400

S 11 584/322 837/597 1050/809 1263/1022 680 440

S12 797/535 1010/748 1223/960 742 480

=5 WHHAE BAL: Nm 28 S 1 L 4146
2.5bar 3bar 4bar Sbar 6bar 8bar
w2 XS 0° 90° 0° 90° 0° 90° 0° 90° 0° 90° 0° 90° 0° 90° 90° 0°
i HE= FHIG/EE R FHIG/4E R FHIR/E R FHIG/4E R FHIG/EE R FrIG/EE R FHIG/EE R FrIG/4E R
S5 390/285 523/418 789/684 380 275
S6 335/209 468/342 734/608 1000/874 456 300
S7 280/133 413/266 679/532 945/798 532 385
ATS—210 S8 358/190 624/456 890/722 1156/988 1422/1254 608 440
S9 569/380 835/646 1101/912 1367/1178 684 495
S 10 514/304 780/570 1046/836 1312/1102 1578/1368 760 550
S 11 725/494 991/760 1257/1026 1523/1292 836 605
S 12 670/418 936/684 1202/950 1468/1216 912 660
§5 552/409 744/600 1129/985 554 410
S6 470/297 662/489 1047/874 1432/1259 665 492
S7 388/187 580/379 964/764 1349/1149 775 515
ATS—-240 S8 498/268 883/653 1267/1037 1652/1422 2037/1807 886 656
B S9 800/542 1185/926 1569/1311 1954/1696 998 739
S 10 718/431 1103/816 1488/1201 1872/1586 2257/1970 1108 | 821
S 11 1021/705 1406/1090 1791/1474 2176/1859 1219 | 903
S 12 939/594 1323/979 1708/1363 2093/1748 1330 | 985
S5 903/675 1195/968 1779/1552 787 560
S6 790/519 1083/811 1667/1396 2252/1981 943 672
S7 679/361 972/654 1556/1238 2141/1823 1101 783
ATS-270 S8 860/497 1444/1081 2029/1666 2614/2252 3199/2836 1258 895
S9 1332/923 1917/1509 2502/2094 3087/2678 1416 | 1007
S 10 1220/767 1805/1352 2390/1937 2974/2521 3560/3107 1572 | 1119
S 11 1693/1194 2278/1779 2862/2364 3448/2949 1730 | 1231
S 12 1582/1037 2167/1623 2751/2207 3336/2792 1887 | 1342
SIS 1097/729 1061 730
S6 935/494 1316/875 1273 | 876
S7 772/258 1153/639 1916/1402 1485 | 1022
ATS—300 S8 991/403 1754/1166 2517/1929 1697 | 1168
B S9 1592/930 2355/1693 3118/2456 1909 | 1314
S 10 1430/695 2193/1458 2956/2221 3719/2984 4482/3747 2122 | 1460
S 11 2030/1222 2793/1985 3556/2748 4319/3511 2334 | 1606
S12 1868/986 2631/1749 3394/2512 4157/3275 2546 | 1752
S5 1553/964 1702 | 1173
S6 1292/586 1863/1157 2043 | 1408
S7 1031/208 1602/779 2745/1922 2383 | 1642
ATS—350 S8 1341/401 2484/1544 3626/2686 2724 | 1877
B S9 2224/1165 3336/2307 4508/3449 3064 | 2112
S 10 1963/787 3105/1929 4247/3071 5390/4214 6532/5356 3405 | 2346
S 11 2844/1551 3986/2693 5129/3836 6271/4978 3745 | 2581
S 12 2584/1172 3726/2314 4869/3457 6011/4599 4086 | 2816
S7 2028/869 2880 | 1837
S8 1736/411 2550/1225 3292 | 2100
S9 2259/768 3887/2396 3703 | 2362
S 10 1967/311 3595/1939 5223/3567 4115 | 2624
ATS—400 S 11 3303/1482 4931/3110 6559/4738 4526 | 2887
S 12 3012/1025 4640/2653 6268/4281 7895/5908 9523/7536 4938 | 3149
S 13 4348/2195 5976/3823 7603/5450 9231/7078 5349 | 3412
S 14 4057/1738 5685/3366 7312/4993 8940/6621 5761 | 3674
S 15 3765/1281 5393/2909 7020/4536 8648/6164 6172 | 3937
S 16 5101/2452 6728/4079 8356/5707 6584 | 4199
RIEAML hE
SRE S
. - 2, bbar 4, 5bar 5,5bar
AR S 3bar 4bar 5bar 6bar 7bar 8bar
ATD-50 8.3 10 13.3 15 16.6 18.3 19.9 23.3 26.6
ATD-63 14.7 17.6 235 26.4 29.3 32.2 35.2 4 46.9
ATD-75 29.1 34.9 46.5 52.4 58.2 64 69.8 81.4 93.1
ATD-88 45.8 54.9 73.2 82.4 91.5 100.7 109.8 128.1 146.6
ATD-100 66.5 79.8 106 120 133 146 160 186 213
ATD-115 107 129 172 193 215 236 258 301 344
ATD-125 138 166 222 249 277 305 332 388 443
ATD-145 217 261 348 391 435 478 522 609 696
ATD-160 284 340 454 511 567 624 681 794 908
ATD-190 420 638 851 958 1064 1170 1277 1490 1702
ATD-210 532 798 1064 1197 1330 1463 1596 1862 2128
ATD-240 769 1154 1539 1731 1924 2116 2308 2693 3078
ATD-270 1170 1750 2339 2632 2924 3216 3509 4094 4679
ATD-300 1526 2289 3052 3434 3815 4197 4578 5341 6104
ATD-350 2285 3427 4570 5141 5712 6283 6854 7997 9139
ATD-400 3256 4884 6512 7326 8140 8954 9768 11396 13024




Wi FLRT

& AL R R~ (2 &) (mm)

W.

A

UCRE)

940

ATD/ATS-400R ~f

4-M6X10

UEAS! L &
A TRERZ P RTHBES FiE
50 63 75 88 100 ‘ 115 ‘ 125 ‘ 145 ‘ 160 ‘ 190 ‘ 210 ‘ 240 270 ‘ 300
BE
ATD/ATS
®R 127 | 127 | 127 | 15.88 | 19.05 | 22.23 | 22.23 | 28.58 | 28.58 | 31.75 | 31.75 | 33.34 | 38.1 | 41.28
142 | 142 | 142 | 184 | 216 | 248 | 248 | 321 | 321 | 353 | 353 | 37.4 | 424 | 453
T 3 3 3 5 5 5 5 8 8 8 8 10 10 12
U 32 32 32 32 32 45 45 45 45 45 45 51 51 65
®DR 13 13 13 16.1 | 19.2 | 224 | 22.4 | 288 | 288 32 32 336 | 384 | 415
HT 10 10 10 12 14 17 17 22 22 24 24 27 27 32
- . -
TERAYRURKRITSE

HEASFHATHREFRGRESHADRARE, EAYREBTERAT0 -90° | 0°
AE, ERERIINTHR LETMESTETREBED.
RERE

Ao

-
=K

=

-120° =H0° -180° SEEHER

I HINAMURSR & 3 414
EEREREAL, TERAFRE
. ERARBEEWmAEMRE,

SEZEOESNAMURRAE, T
HREAENREEER,

11

JEBREFIZITFA1S50521.
DIN3337#r8, TNEERER
EREDIFRNBR L ETE,

we 50 ‘ 63 ‘ 7is) ‘ 88 ‘ 100 ‘ 115 ‘ 125 ‘ 145 ‘ 160 ‘ 190 210 240 ‘ 270 ‘ 300 ‘ 350 | 400
ATD/ATS
A 140.5 | 1568.56 | 210.5 | 247.5 | 268.5 | 315 345 | 408.5 | 437.5 | 540 555 602 718 760 920 940
B 26.5 30 30.5 (N 32 50837 5884265 45 47.5 52 54 58 66 81 83 97 232
c 20 20 20 20 20 30 30 30 30 30 30 30 30 30 30 30
D 40 40 40 40 40 56 56 65 65 80 80 80 80 80 80 80
E 59 72 84.5 | 97.5 111 127 136 | 166.5 | 169 | 190.5 | 213 245 273 312 365 298
F 69 85 102 115 127 145 157 177 196 230 250 319 356 380 440 496
G 29 36 42.5 | 495 56 64 69.5 80 88 103 | 1135 | 130 147 162 190 260
H 41.5 47 52 56.8 67 77 82 91.5 99 103 | 113.5 | 130 147 174 195 260
| 145 | 145 | 145 | 145 | 145 | 245 | 245 | 245 | 245 | 245 | 245 30 30 30 30 30
Jmin 12 16 16 19 19 24 24 29 29 29 38 50 50 50 50 50
K 11 11 17 17 17 27 27 27 27 36 36 46 46 46 46 46
L 80 80 80 80 80 80 80 80 80 130 130 130 130 130 130 130
M 30 30 30 30 30 30 30 30 30 30 30 30 30 30 30 30
N 4 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8
01 FO3 FO5 FO5 FO5 FO7 FO7 FO7 F10 F10 F14 F14 F16 F16 F16 F25 F25
0 - - Fo7 FO7 F10 F10 F10 B2 F12 - - - - - - -
P1 4-M6 | 4-M6 | 4-M6 | 4-M6 | 4-M8 | 4-M8 | 4-M8 | 4-M10 | 4-M10 | 4-M16 | 4-M16 | 4-M20 | 4-M20 | 4-M20 | 8-M20 | 8-M20
B - - 4-M8 | 4—-M8 | 4-M10 | 4-M10 | 4-M10 | 4-M12 | 4-M12 = = = = = 8-M16 | 8-M16
aa 11 14 14 17 17 22 22 27 27 27 36 46 46 46 46 46
v 24 24 24 24 24 24 24 24 24 24 24 24 24 24 24 24
w 32 32 32 32 32 32 32 32 32 32 32 32 32 32 32 32
Y M58 | M5x8 | M5x8 | M5x8 | M5x8 | M5x8 | M5x8 | M5x8 | M56x8 | M5x8 | M5x8 | M5x8 | M5x8 | M5x8 | M5x8 | M58
z 1/4 1/4" 1/4 1/4" 1/4 1/4 1/4 1/4" 1/4" 114 1/4" 1/4° 1/2° 1/2° 1/2" 172"
12




